
12

t of

= 20

1= 8

93 SANA(HN)-Ol

West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2013

PART - I

SANSKRIT - HONOURS

Paper - I .

\ NEW AND OLD SYLLABUS)

Duration : 4 Hours ] [ Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.

Thefigures in the margin indicate full marks.

( NEW SYLLABUS)

UNIT - I

(.Marks : 20 )

1. Write short note on anyone of the following : 1 x 4 = 4

~, lIDTT, TfUT: I

2. Define and illustrate any two of the following : 2x4=8

3. Scan and name the metres in any two of the following : 2x4=8



8.
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UNIT'- II
7.

(Marks: 40)

4. Join in Sandhis any four of the following: 4 x 1 =

5. Disjoin the Sandhis in any four of the folloiwng :
I

4 x 1 =

6. Account for the case-endings in any eight of the following underlined words:

8 x 1 = 9.

a) <W1: 1'li ~ ~~ I

b) m~~1
c) 1IT'i f.:rcI;-6rrCRl\ I

d) 'B: CiMol OlIICfl{OI'l ~ I

e) "Sr~:~~ I

f) ~~I

g) 'B:~fcf~ I
1

h) ~~ 'lCffu I

i) ~ 11TCfi': I

j) flCftili cx:m;f ~ I

k) ~ CfWTT ~a;fro I

1) ~ 3l«i .m 'B 3Wffi: I
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7. Distinguish between any Jour of the following words :

a) ~ and 3"lI::qlllfl1 1

4x2=8

b) ~ and lIcF'IHl 'I

c) ~and~ I

d) dG;:qf(1 and dGCflll1fa

e) 4~ 1<1\311and 4~1<1\3I:

n ·~and~1

8. Name and expound the Samasas in any Jour of the following :

3lj(i:\41{, <1\3I9><>~:,11~1~(11{, f5i~, QloI14Ifbl:, 3"lll1l'tl41 I

4x2=8

9. Correct or justify any Jour of the following :

a) qG'fll 4 olffii f(1 (ff ~:

b) iffi~llI 14f1i4:' I

c) mf.:11frG~ C'Cl4114: ~1I~qffi:~:

4x2=8

d) 'qO~ <Y;+G1 4~1I1f~

e) ~ ~lf(1CfiOalli I

o d4g4R ~ ::q<~1~q<1"1I:

UNIT - UI

(Marks: 30)

10. Translate into Sanskrit and write in Devanagart script : 15

a) There was in Ayodhya a king named Dasaratha. He used to hit a mark only by

its sound. Once in the rainy season he went to the bank of the,.river Sarayu for

hunting. Then night came. At that time a hermit boy was filling his pitcher with

water. The king took the sound of the pitcher being filled to be the trumpet of

an elephant and cast his arrow. Suddenly he heard the sound 'Alas, I am

undone!' and hastened to the spot.

OR



1
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b) Life is struggle. There are many ups and downs. Sorrow and happiness move

like a. wheel. Prosperity and adversity come and go like sunshine and cloudy

weather. The companionship of a good friend increases our happiness and

diminishes our sorrow. So, a few sincere friends will be needed. But in -this

world, real friends are rare.

11. Translate into English: 15

a) 31fu:r~?) 4~1('1lf8 -qc:fu ~ -;w:r~:. I ~: ~ ~§>q~Cj~ Cfiitfu ~ 1(ffi: -wl~:

fqf<.1("q1~ fCl~lfq(1cHl: - ~, ~~. ~ ~ fjCfl(1q~q~ Cfiitfu ? ~ ~: 3TImT~

SlfClf(!O'1J{~ ~ 3%(14: I~: 3~qli .: ~ ~ I rn=f: ~~ ~ ~ ~ 00

~ --crnq: ~ 3illlqlli I

OR

b) <:fl ~ <:f3{ ~ "(1'~ W ~ ~~: I ~~: 4jtillBl ~ ~ ~ 'qqfu I ~

.'lID ~ ~~ ~ f4(Mq I (1~!(f'1lr~: ~ ~ c:r@ I ~1«(1qtifs1l4f41cj:;~~: I

~1«(1qtf~~If4Icj:;~: I fCl<!(IBl ~ ~ ~ ~: ~ 'qqfu 1

2.
UNIT - IV

(Marks: 10)

12. Write an essay in simple Sanskrit on anyone of the following:

a) f~~l'1ll1Cfll fClClCflI'1~: I

b) gl5iloli (1\j111FCl~~f 1

c) qftCl!(I~tloi (1«;1fClCflI(~~I

d) fifCfldf(!Oqfj: 1

10
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( OLD SYLLABUS)

UNIT -I

( Marks: 15)

Write short note on anyone of the following:

(1Y;~<:, fiq~*111" GJffi: ,

Define and illustrate ( any two) :

q OOG Istll~ I, 8>('1fq (1fklil ('111" ~\iI {i'Sl41(111"q fi ~ f(J(1Cf)11, ,

Scan and name the metre ( Any two) :

i) ~ ~~1qCf)Od~nruI(1l2ff ",

ii) , mm~'qUlf ljg<jQ('1f(J ~ G*1~fte: ,

ill) ~ 11.::l1f('1<q:Cfl(1PI~: ,

iv) SIflIf4M4lft ~ql~<kql I
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dy

d

a)1. lx3=3

15 b) 2x3=6

c) 2x3=6

UNIT-D

(Marks: 30)

Explain the following with example :

~~: t:I<-SlCfllfdctl: ,

a) 5

OR
10

3QQGfq~: Cf)1<Cf)fq~fmafct14m I

Join in Sandhis (Any two) :

~ +~, f.wl + 3l~:, ~ +.~ mt. + ~,

c) Disjoin the Sandhis ( Any two) :

IF-134I lFft1:n, ~, -;ffiq:, ~6'(Xffo: ,

b) 2xl=2

2 x 1 = 2
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d) Account for the case ending ( Any four) : 4 x 1 = 4

i) 7Ji~~ I

3
il) ~~: QTl:ffi:

ill) ~~:I

iv) ~~:I

v) ~ml

vi) ~~~~~4f(1

e) Distinguish between any two of the following pairs : 2 x 2 = 4

f) Give the resulting forms ( Any five) : 5

i) SI{l4di CJm~ 1lf~ I

3ltJro "'·PICll1fll ~il)

if(:it114 1101*114: Iill)

CI~0f4qolff4Ojf(1of ~:iv) II

'!:IT+ ~, mm:r .+ ~ , ~ + ~ + ~ 3rd person singular, ~ + ~ + ~

3rd person plural, 3lf~ - m + ~, 1:Rl. + m, Gm~ + ~, ~ + ~ I

Substitute single words for : ( Any two ) 2 x 2 = 4

h) Correct or justify any two of the fpllowtng : 2 x 2 = 4
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UNIT - DI

(Marks: 25 )
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3. Discuss the dramatic significance of Brahmacart episode in Svapnaviisavadatta. 10

OR

Write a comprehensive note on the role of'Vtdusaka as depicted in Svapna-

vasavadatta.

4. Translate into English or Bengali anyone: 5

~\i{1lrt:t('qI~f4i ~ ~ tcrnT II

il) CfiRro ~S~ qr ofIffil~ «19)~

5. Explain in Sanskrit anyone of the following with reference to the context: 1 x 7 = 7

it)

6. Wrtie short note on anyone of the following : 3
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UNIT -IV

(Marks: 10)

7. Translate the following passage. into English or Bengali: 10

~~~ cnf~ ~ ~: Slfc!i::lfifdB:r I ~ "5r%f ~ ~ ~ I ~ ~~

~ ~a:ruTTlJ ~ "8RT?f ~ lffiT I OGT -:q<i\ll3ieICl -qrcfuy~ i!Ol"Hh?0ll~ ~ ~: I~:

'l~41f<.1d~ ~a:ruTTlJ ~ ~~q1411'60Cl I OGT ~ ~ SlfcHHl~ \iftrR

Translate the following passage into Sanskrit:

In the Himalayan region. there was a dense forest. Naimisaranya by name. Once a

great number of sages assembled there on the occasion of great sacrifice of king

Sarmaka. 'Santi' was also present there. Requested by the sages he narrated the

Mahabharata before them.

UNIT-V

. ( Marks : 20 )

8. Write a brief note on the poetic excellence of Banabhatta. 8

OR

Analyse critically the advice delivered by SUka.nasa to Candraptda.

9. Translate into English or Bengali anyone of the following :

i) lAm tc«n~HI40ISldHOliftlO~~lq11 4~dl!<:qHl:SlfCitilI4<::!)\ll!1Afqql\4'S4I~Pi'lciW~lq~f~ I

6:.PI"'dn:dQffi~(:11:q;:jfCleeI241!<I~ffi I

ii) 3ilmi!O~"l:{~4fdf:?I<:"ft1l~md!<lIft1: 41Cfll?llft1 ~~~Gf~4Iep"l~ ~qi ~
Sldl4lj<llllq1d ~ ftI4"'d:qSfl~Sflqfde~ ( ~ ~ -.,p:J )

10. Explain in Sanskrit anyone of the following : 1 x 7 = 7


